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Steel C | Si {Mn| P S Nb
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1
Upy=—1
| ;. /BEY
P (12)

C0=1.0010: C1=-4.6655. C2=18.460
C3=-236.82 . C4=12149 : C5=-2143
a : crack length (mm) W : width of specimen (mm)

B : thickness of specimen (mm)

E : Young's modulus (kgf/mm?2 )

V : crack opening displacement (mm) P : load (kgf)
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a . crack length (mm)

W . width of specimen (mm)

B ! thickness of specimen (mm) P : load (kgf)

K ! stress intensity factor (kgf/mm3 / 2)
AK = Kmax— Kmin 14
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da/dN (%10 "4 mm/cycle)
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4.00 ~frrrr e
200 300 400 50.* 600 700 800

Crack length (mm)

AK= 140 kgf/mm3/2
3.
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350
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200 ~rrTY

T T
200 300 40.0 500 60.0 700 80.0
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Reasoning
1ai I (da./dN}i is SL. and (d’a/clN’)i is NE} then ris VL
2.} 1f ((da/dN; is SL and (d*/dN?), is ZO ] or

25} ((da/dN), is SL and (d°/dN°); is PO} then risLA
32} If ( (da/dN}; is ME and (d°#/dN); is NE } or
3bi ((da/dN); is ME and (da/dN); is ZO } or
3¢ [(cla/dN)i is ME and (d "aldl‘?)i is PO }or
3.} ((da/dN); is FA and (d "a/dN) is NE}
4-ailf ((da/dN)is FA and (d ‘a/dN’); is ZO } or
4-b} ((da/dN);is FA and (d "a/dN"); is PO}

then ris ST

then ris SM
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be da/dN);.,1/(da/dN) §
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1 avgc fa { da/d!\);

3. (da/dNYi D A 18— o TRIES

8-a

#" Positive

(e
(d2a/dN2)i D * 2 18— v TR
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#3. 5 REEX (2) OBEOEH
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49.21 102700 2.80 9.79
49.39 103527 2.18 -1.57
49.62 104547 2.25 0.77
49.36 105662 2.15 -0.92
50.10 106715 2.27 1.20
50.38 107827 2.52 2.15
50.60 108937 1.98 -4.83
50.83 109881 244 481
51.08 110987 2.26 -1.59
51.30 111892 243 1.88
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r is ST={(08A03)V (08ANQT)IAN
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=(03V 07) AuST(r)
=07 AuST(r)= uST*(r)
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B, roBREh A V- Yy THEEIXRR TE
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p*¥(r)= pVL*(r) V pLA¥(1) V uST*(r) (19)
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£4. 1 EWRBEMELRRED (BS4360)

n’?m AK mean of c.ovof ":N" c.ovof Z(x)
- Ed
WAm|  @hyl) | (g = (%)
1BS08 | 218 626 x10° | 137 3.60 139
1Bs09 | 213 561 152 388 142
1BS10 218 552 14.6 392 140
Bs1 | 218 658 140 348 147
4Bsol | 218 765 15.7 310 154
4Bs02 | 218 798 278 299 155
%107

28s01 | 280 175 116 279 114
2802 | 280 1383 114 249 118
28s03 | 280 130 101 260 109
2mso4 | 280 185 95 242 94
28805 | 280 150 29 224 9.1
2BSCS 280 185 104 242 111
28807 2890 184 100 245 103
2BS09 280 150 127 224 126
28810 | 280 178 125 268 132
2ms11 | 280 176 145 215 144
3BS02 | 342 306 *107 85 275 84
3BS04 | 342 300 109 241 105
3Bsos | 342 317 95 349 83
3806 | 342 110 79 308 69
3BS07 | 342 308 109 293 10.6
3pses | 342 296 71 215 69
3BS10 | 342 299 6.6 235 62
5RO1 435 5.76 x107 95 265 94
SRO2 4.5 512 9.1 225 84
5R03 43.5 5.74 95 264 9.1
1Bs02 | 435 642 75 303 73
1BS04 | 435 636 92 299 8.6
1BS0S 435 6.02 15.1 281 L1

* mean of Z(x) = 3.81x10°

£4. 2EFRBHER L EABER (L36E)
Specimen ID] AR |mean of (da/dN) | COV of (da/dN)| m
(MPam1/2) |(mveycle)= 107 (%)
2HT1 28.0 0.61 23.0 3.54
2HT2 28.0 0.25 15.1 5.18
2HTS6 28.0 1.14 7.5 2.32
3HT1 28.0 0.78 23.9 3.08
3HT7 28.0 1.19 12.1 2.40
SHTA4 28.0 0.70 36.2 3.79
1HT4 34.2 2.18 223 1.85
1HTS 34.2 1.68 304 1.07
1HT®6 34.2 2.78 8.5 2.69
1HT?7 34.2 1.79 12.4 2.39
4HT3 34.2 1.63 17.8 2.68
4HTS 34.2 2.11 15.6 1.92
2HT3 43.5 3.74 13.9 4.70
2HTA4 43.5 3.21 11.9 0.73
2HTS 43.5 2.60 229 2.29
3HTS6 43.5 3.71 9.4 0.75
4HT1 43.5 2.42 16.7 5.32
5HT1 43.5 2.97 9.9 3.08
5HT2 43.5 3.85 10.9 0.38
SHT3 43.5 2.95 11.7 3.17
3HT2 55.9 4.86 © 20.6 1.16
3HT3 55.9 7.18 7.1 3.78
3HT 4 55.9 5.41 16.4 1.90
3HTS 55.9 5.01 12.7 1.44
4HT2 559 6.64 114 3.26
4HT4 55.9 6.60 13.0 3.20
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#include <stdio.h>
#include <string.h>
#include <dos.h>
#include <math.h>
#include <conio.h>
#include <stdlib.h>
#include <time.h>
#include "punch.h"
#include "p9128.h"
#include "value.h"

void main(void)

{

int ika,check;
int cc;
FILE *fp;

simuortest(&iftest);

k_or_p(&ctrl,&stress,&KVALY);
check=setcondi(idnum,&thick,&icrack);

strepy(fnamel,idnum); /* intial data fname is : "specimen ID.cnd” */
strcat(fnamel,”.cnd”); /* intial data fname is : "specimen ID.cnd" */
strepy(fname2,idnum); /* recording fname is : "specimen ID.dat" */
strcat(fname2,".dat"); /* recording fname is : "specimen ID.dat" */

while (1)
{

ika=specimenc(idnum,&width,&thick, &icrack,&crackstart,&crackend);

if (ika==999) break; /¥ ika==999 : ESC */
ika=loade(&freq,&ctrl);
if (ika==999) break;

ika=otherc(fnamel,fname2,&YOUNG,&loadfact,&codfact,&ifiest);

if (ika==999) break;

printf("¥n¥n  Everything Fine ?7");

cc=getch();

if ((ce=="yii(cc=="Y")il(cc==CR)) break;
)

if (NULL=(fp=fopen(fname1,"w")))
printf("Cannot Open File %s¥007¥n" fnamel);

fprintf(fp,"Specimen ID Number : %s¥n",idnum);



fprintf(fp,"Condition File Name : %s¥n",fnamel);
fprintf(fp, Test Data File Name : %s¥n",fname2);

fprintf(fp,” ------ Specimen Size ------¥n");
fprintf(fp,"Width : %lf¥n",width);
fprintf(fp,"Thickness : %1f¥n" thick);
fprintf(fp,"Initial Crack : %lf¥n" icrack);
fprintf(fp," ------ Test Condition ----- ¥n"),

fprintf(fp,"First Recording Crack  : %If¥n" crackstart);
fprintf(fp,"Last Recording Crack  : %If¥n",crackend);
fprintf(fp,"1)Test 2)Simulation : %d¥n" iftest);
fprintf(fp,"1)K-Control 2)P-Control : %d¥n",ctrl);

fprintf(fp,"Load Frequency : %lf¥n" freq);
fprintf(fp,"YOUNG : %d¥n", YOUNG);
fprintf(fp,"Delta P : %lf¥n",stress);
fprintf(fp,"Delta K : %If¥n" KVAL),
fprintf(fp,"Load Factor : %1f¥n" loadfact);
fprintf(fp,"COD Factor : %l1f¥n" codfact);
fclose(fp);

[ punch h¥s kst ks
punch.lib header file

& "‘*""’******/

extern int setini(void );

extern int simuortest(int *iftest);

extern int k_or_p(int *ctrl,double *stress,double *KVAL),

extern int kvalin(double *KVAL);,

extern int setcondi(unsigned char *idnum,double *thick,double *icrack);

extern int conformini(void );

extern int specimendsp(void ),

extern int specimenc(unsigned char *idnum,double *width,double *thick,double *icrack,double
*crackstart,double *crackend);

extern int loaddsp(void );

extern int loadc(double *freq,int *ctrl);

extern int otherdsp(void );

extern int otherc(unsigned char *fnamel,unsigned char *fname2,int *YOUNG,double *loadfact,
double *codfact,int *iftest);

extern int everyfine(void );

/***condi.c*********

setini()
simuortest()
k_or_pQ
kvalin()
setcondi()

& 5 * sk ok

#include <stdio.h>
#include <string.h>
#include <dos.h>
#include <math.h>
#include <conio.h>
#include <stdlib.h>
#include <time.h>
#include "punch.h”
#include "p9128.h"



#include "value.h”

int setini(void)

{

text_clrQ);

locate(0,3);

printf("  ---------------- SET CONDITIONS -------eeeeveeeeee¥n™);
printf(" ¥n'");
printf(" ¥n");
printf(" ¥n");
printf(" ¥n");
printf(” ¥n");
printf(" ¥n"y;
printf(" ¥n");
printf(" ¥n");
printf(” ¥n");
printf(" ¥n");
printf(" ¥n¥n"),
return(0);

int simuortest(int *iftest) /** unresolved **/

(

int aa;

text_clr(Q);
setini();
locate(0,5);
printf("  THIS PROGRAM APPLIES TO (1 or2) ¥n¥n");
printf(" 1) Loading Test ¥n");
printf("  2) Simulation ¥n"),
locate(44,5);
for(aa="0"; ((aa!="1)&&(aa!="2));)
it
aa=getch();
if(aa==ESC) break;
)
switch(aa)
{
case '1": *iftest=1; break;
case '2": *iftest=2; break;
case ESC: return{0);  /** unresolved **/

)

return(0);

int k_or_p(ctrl,stress,KVAL)

int *ctrl;
double *KVAL,*stress;
{
int aa;
text_clr();
setini();
locate(0,5);
printf("  CHOSE FOLLOWING TEST TYPE (1 or 2) ¥n¥n"),
printf(" 1) CONSTANT delta K CONTROL TEST ¥n");
printf("  2) CONSTANT STRESS CONTROL TEST ¥n"),



printf(" ¥n");

printf(" ¥n");
printf(" ¥n"),
printf(" ¥n");
printf(" ¥n");
locate(44,5);

for(aa='0'; ((aa!="1)&&(aa!="2));)
{

aa=getch();
if(aa==ESC) break;
}
switch(aa)
{
case '1": *ctrl=1; kvalin(K'VAL); break;
case 2" *ctrl=2;
locate(0,11);
printf("  INPUT delta P¥n");
printf(” delta P = [kegl™)s
*stress = keyin(21,12);
break;
case ESC: return(0);
)
return(0);
}
int kvalin(KVAL)
double *KVAL,;
{
int aa;
locate(0,5);
printf("  CHOSE A K-VALUE AND PRESS THE NUMBER (1-5) ¥n¥n");
printf(" 1) 70 [kgf/ mm(2/3)] 2) 90 [kgf/ mm(2/3)] ¥n");
printf("  3) 110[kgf/ mm(2/3)]  4) 140 [kgf/ mm(2/3)] ¥n");
printf("  5) OTHER ¥n");
printf(” ¥n"),
printf(" ¥n");
printf(" ¥n");
printf(" ¥n");
locate(49,5);
for(aa='0"; ((aa<'1")li(aa>'5");)
{
aa=getch();
if(aa==ESC) break;
)
switch(aa)
{
case 'l *KVAL=70.0; break;
case 2" *KVAL=90.0; break;
case '3": *KVAL=110.0; break;
case '4": *KVAL=140.0; break;
case '5": locate(0,11);
printf("  INPUT K-VALUE ¥n");
printf(" K-VALUE (double) = ");
*KVAL=keyin(28,12);
break;
case ESC: return(0);
]
return(0);
)



int setcondi(idnum,thick,icrack)
char idnum{]J;

double *thick;

double *icrack;

(

char cbuf[20];
int ika;
double uni;
setini();
locate(0,5);
printf(" INPUT FOLOWING CONDITIONS ¥n¥n");
printf(” 1) Specimen ID number : ¥n"),
printf(" 2) Specimen Thickness: [mm)] ¥n");
printf(" 3) Initial Crack Length : [mm] ¥n"),
do(
locate(34,7); printf(" *); strepy(cbuf, keyinstr(34,7));

if((*cbuf)!=0) strcpy(idnum,cbuf);
locate(34,7); space(15); printf("%s" idnum);

locate(34,8); printf(" "); uni=keyin(34,8);
if(uni!=0.) *thick=uni;
locate(34,8); space(7); printf("%4.21f", *thick);

locate(34,9); printf(" "); uni=keyin(34,9);
if(uni!=0.) *icrack=uni;
locate(34,9); space(7); printf("%4.21f" *icrack);

prntf("¥n¥n  Everything Fine 7 ");
ika=getch();
} while((ikal="y')&&(ika!="Y")&&(ika!=CR));
return(0);

[#**confrm.c sl ko sk

conformini()
specimendsp()
specimenc()
loaddsp()
loadc(
otherdsp()
otherc()
everyfine()

#include <stdio.h>
#include <string.h>
#include <dos.h>
#include <math.h>
#include <conio.h>
#include <stdlib.h>
#include <time.h>
#include "p9128.h"
#include "punch.h”
#include "value.h"



int conformini(void)

{
text_clr(;
locate(0,3);
pﬁntf(" s s Sl s sk e sk s ofe e skoke sk ok CONFORMATION OF CONDITIONS *****************¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n"),
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" * *¥n");
printf(" ************************************************************¥n");
printf(" ¥n");
printf(" ¥n"),
printf(" ¥n");
printf(" ¥n");
printf(" ¥n");
printf(" ¥n");
return(0);

)

int specimendsp(void)
locate(0,5);
printf(" * SPECIMEN ¥n");
printf(" ¥n"),;
printf(" * 1) Specimen ID number ¥n");
printf(" * 2) Specimen Width : [mm] ¥n"y;
printf(" * 3) Specimen Thickness : [mm] ¥n"),;
printf(" * 4) Initial Crack Length : [mm] ¥n");
printf(" * 5) 1st Recording Crack : [mm] ¥n");
printf(" * 6) last Recording Crack : [mm] ¥n'");
printf(" * 7) Next ¥n'");
return(0); ’

}

int specimenc(idnum,width,thick,icrack,crackstart,crackend)
char idnum[];
double *width,*thick,*icrack,*crackstart,*crackend;
{
int fine;
char cbuf[20];
double uni;

text_clr();

conformini();

specimendsp();

locate(34,7); printf("%s" idnum);
locate(34,8); printf("%3.21f", *width);
locate(34,9); printf("%3.21f", *thick),
locate(34,10);  printf("%3.21f" *icrack),
locate(34,11);  printf("%3.21f" *crackstart);



locate(34,12);  printf("%3.2If" *crackend);

while(1)
{
fine=everyfine();
switch(fine)
{
case 0: return(999);
case 1: locate(6,15);printf("Specimen ID number = "%
strepy(cbuf, keyinstr(28,15));
if((*cbuf)!=0) strepy(idnum,cbuf);
locate(34,7); space(10); printf("%s" idnum);
break;
case 2: locate(6,15);printf("Specimen Width = "Y;
uni=keyin(24,15); if(uni!=0.) *width=uni;
locate(34,3); space(10); printf("'%3.21f",*width);
break;
case 3: locate(6,15);printf("Specimen Thickness = ")
uni=keyin(28,15); if(uni!=0.) *thick=uni;
locate(34,9); space(10); printf("%3.21f",*thick);
break;
case 4: locate(6,15);printf("Initial Crack Length = "Y;
uni=keyin(30,15); if(uni!=0.) *icrack=uni;
locate(34,10); space(10); printf("%3.21f", *icrack);
break;
case 5: locate(6,15);printf("1st Recording Crack = ")
uni=keyin(29,15); if(uni!=0.) *crackstart=uni;
locate(34,11);  space(10); printf("%3.21f" *crackstart),
break;
case 6: locate(6,15);printf("last Recording Crack = ",
uni=keyin(30,15); if(uni!=0.) *crackend=uni;
locate(34,12);  space(10); printf("%3.21f",*crackend);
break;
case 7: conformini(); return(0);
default: conformini(); fine=999; break;
}
return(0);
}
int loaddsp(void)
{
locate(0,3);
printf(" * LOADING CONDITIONS ¥n¥n"),
printf(" * 1) Frequency : [Hz] ¥n")
printf(" * 2) Controled by : ¥n"),;
printf(" * 3) ¥n");
printf(" * 4) ¥n");
printf(" * 5) ¥n");
printf(" * 6) ¥n");
printf(" * 7) Next ¥n");
return(0);
}
int loadc(freq,ctrl)
double *freg;
int *ctxl;
{

int fine,ika;



/* double uni; */

text_clr();

conformini();

loaddsp();

locate(34,7); printf("%3.21f" *freq);

if (*etrl==1) locate(34,8); printf("¥"delta K¥"");
if (*etrl==2) locate(34,8); printf("¥"delta PY"™);

while(1)
{

fine=everyfine();

switch(fine)

{

case 0:  return(999);

case 1: locate(6,15);
printf("cannot change!¥n");
break;

/* locate(6,15);printf("Load Frequency = "),
uni=keyin(24,15); if(uni!=0.) *freq=uni;
locate(34,7); space(10); printf("%2.11f" *freq);
break;

*/

case 2: locate(6,15);
printf("Controled by 1) delta K 2) delta P¥n");
locate(6,16);
printf("PRESS (lor2)";
ika=0;
while((ika!="1)&&(ika!="2)

{
locate(34,16);
ika=getch();
locate(34,16);space(10); /* delete eccor back num */
)
locate(6,15); space(50),
locate(6,16); space(50);
locate(34,8); space(10);
if (ika=="1")
{
*ctrl=1;
printf("¥"delta K¥");
if (ika=="2")
{
*ctrl=2;
printf("¥"delta P¥");
break;

case 3: break;

case 4: break;

case 5: break;

case 6: break;

case 7: conformini(); return(0);

default: fine=999; break;

)
}
return(0);



int otherdsp(void)

{
locate(0,5);
printf(" * OTHERS ¥n¥n");
printf(" * 1) Recording Filename : ¥n");
printf(" * 2) Condition Filename : ¥n");
printf(" * 3) Young's Module : ¥n");
printf(" * 4) Calibration of Load : ¥n");
printf(" * 5) Calibration of COD : ¥n"y,
printf(" * 6) This program applies to : ¥n"),
printf(" * 7) Next ¥n")y;
return(0);

}

int otherc(fnamel,fname2, YOUNG,loadfact,codfact,iftest)

char fnamel1[},fname2[];

int *YOUNG,*iftest;

double *loadfact,*codfact;

{

int fine,ika;
char cbuf[20];
double uni;

text_clr();
conformini();
otherdsp();

locate(34,7); printf("%s" fnamel);
locate(34,8); printf("%s" ,fname2);
locate(34,9), printf("%5d" *YOUNG),
locate(34,10);  printf("%4.21f" *loadfact);
locate(34,11);  printf("%4.21f" *codfact),
locate(34,12);  printf("  ¥"Loading Test¥" ");

while(1)
{
fine=everyfine();
switch(fine)
{
case 0:  return(999);
case 1: locate(6,15);printf("Recording Filename =
strepy(cbuf, keyinstr(28,15));
if((*cbuf)!=0) strepy(fnamel cbuf);
locate(34,7); space(10);
break;
case 2: locate(6,15);printf("Condition Filename =
strepy{(cbuf, keyinstr(28,15)),
if((*cbuf)!=0) strcpy(fname2,cbuf);
locate(34,8); space(10);
break;
case 3: locate(6,15);printf("Young's Module =

u)‘
3

printf("%s",fnamel);

n),
3

printf("%s",fname2);

n).
>

ika=keyinint(25,15); if(ikal=0) *YOUNG=ika;

locate(34,9); space(10);
break;
case 4: locate(6,15);printf("Load Calibration =

printf("%5d",*YOUNG),

"%

uni=keyin(27,15); if(uni!=0.) *loadfact=uni;

locate(34,10);  space(10);
break;
case 5: locate(6,15);printf("COD Calibration =

printf("%4.21f" *loadfact);

"%

uni=keyin(26,15); if(uni!=0.) *codfact=uni;



locate(34,11);  space(10); printf("%4.21f",*codfact);

break;
case 6: locate(6,19); .
printf("This program is used for ¥n'");
locate(6,16);
printf("1) Loading Test 2) Simulation (1 or2)");
ika=0;
while((ika!="1")&&(ika!=2")
{
locate(48,16);
ika=getch();
locate(48,16); space(5); /* delete eccor back num */
)
locate(6,15); space(50);
locate(6,16); space(50);
locate(38,12); space(16);
if (ika=="1")
{
*iftest=1;
printf("¥"Loading Test¥" ")
)
if (ika=="2")
{
*iftest=2;
printf("¥"Simulation¥” ")
)
break;

case 7: return(0);
default: conformini(); fine=999; break;
]
}

return(0);

int everyfine(void)

{
char buf[2};
int cc;

locate(6,153);
printf("Select a Number You Want to Change ");
cc=0;
while(ce<'Tce>"7")
{
locate(6,15); printf("Select a Number You Want to Change ")
locate(41,15); cc=getch();
if (cc==ESC) return(0);
)
buf[0}=(char)cc;
buf[1]=Y0"
cc=atoi(buf);
return(cc);

._4| —
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#include <stdio.h>
#include <string.h>
#include <dos.h>

#include <math.h>
#include <conio.h>
#include <stdlib.h>
#include <time.h>
#include "start.h"”
#include "p9128.h"
#include "value.h"
#include "fuz.h"

#define GAMP 1
#define DELAY(n) { register unsigned int i; i=n; while(i--); }

void main(void)

it
int ika;
int hatta;

text_clr();

readdat();

if(freq==2.0) frequency=0x1d;

else {
printf("FREQENCY MUST BE 2.0 [Hz]");
exit(999);

)

printpdini();

locate(40,3); printf(" PRINTER OK ?7");
for(ika=0;(ika!="y") & &(ika!="Y")& & (ika!=CR);ika=getch())
{ if ((ika=="n")ii(ika=="N") exit(999); )
locatespace(40,3,40,1);

crack =icrack;

ccrack =icrack;

rerack = crackstart;

kval =KVAL;

setsine(sd);
pvalue(&stress,crack,kval,width,thick);
STRESS = stress;

fact = 4095; /* Jan 8 rewrite */

locate(0,0);



writedat();

locate(40,3); printf(" CONDITIONS OK 7 ");
for(ika=0;(ika!="y")&&(ika!="Y")& & (ika!=CR);ika=getch())
{ if ((ika=="n")li(ika=="N")) exit(999); )
locatespace(40,3,40,1); i

text_clr();
crtonload();

#if GAMP==1

#endif

if (1 == gain_ini())
{

vstr_set(40,11,"PGAMP initialized" REDINORMAL);,

printf("¥7"),
gain=2;
vstr_set(40,11," ",REDINORMAL);
)
else
{
vstr_set(40,11,"cannot initialized PGAMP",REDINORMAL),
printf(YTHTYT¥T™),
exit(999);
)

locate(40,3); printf(" -—--- ADJUST 'SETPOINT' (MTS) - ");
locate(40,5); printf(" INITIAL LOAD =200 [kg] (0.2 [v])");
locate(40,7); printf(" )
locate(40,8); printf(" OK 2 ");
for(ika=0;(ikal="y")&&(ika!="Y")&&(ika!=CR);ika=getch())

{ if ((ika=="n")ii(ika=="N")) exit(999); )
locatespace(40,3,40,7);

locate(40,3); printf(" -------- ADJUST 'SPAN' (MTS) --——--");
locate(40,5); printf(" 'SPAN'=0 ")
locate(40,7); printf(" "),

locate(40,8); printf(" OK ?");
for(ika=0;(ika!="y") & &(ika!="Y")& &(ika!=CR);ika=getch())
{ if ((ika=="n")ii(ika=="N")) xit(999); )}
locatespace(40,3,40,7);

factin(4095);

starttimer2(frequency);

locate(40,3); printf(" -----—- ADJUST 'SPAN' (MTS) ------- ")
locate(40,5); printf(" DELTA P = %4.01f [kg] ", STRESS);
locate(40,7); printf(" "),

locate(40,8); printf(" OK ?");
for(ika=0;(ika!="y) & &(ika!="Y")& &(ika!=CR);ika=getch())

{ if ((ika=="n")i(ika=="N")) exit(999); }

locatespace(40,3,40,7);

cursorsw(0);

/**’k************* BEGINING OF TEST *****************/
cycle =0;

xcycleent = 0;

yeycleent = 0;

JrEEREE pefore first]13 #wskickf
FUZZY=0;,
while( ccrack<crackstart) adloop();

_.__.43.__<



FUZZY=1,

/**** ¢ s s ‘ 4-**/

if (FUZZY ){ for (cnt=0; cnt<13; ) first13(); )

/************* JOINT 23 ek g s /'
hatta=1;

vstr_set(40,11," ", REDINORMAL);

while( hatta )

{
vstr_set(40,10,"AD LOOP" REDINORMAL);
printxycycle(cycle, xcyclecnt, yeyclecnt);
locate(60,12); printf("cnt=%1d",cat);
if ( ccrack >=rcrack )
{
adQ;
xcyclecnt = 0;
rerack+=0.4;
locate(1,4) ;printf("Next recording crack : %3.21ffmm]" rcrack);
vstr_set(40,10," ", REDINORMAL);
hatta=0;
}
if (1==lookkey())
{

ad(;
changek(&fact, KVAL kval),
factin(fact);

ad(); f=*** AD conversion *¥¥¥*/

if (kval >= (KVAL*1.004))

{
ycyclecnt = 0;
changek(&fact, KVAL kval);
factin(fact);
if (FUZZY )(printf("¥7");fuzzy();}

)

)

/***************************** L2 22 *****************/

while(1)

if (FUZZY ) onload();
else adloop();
)

/****************** END OF TEST *******************/
cursorsw(1);
exit(0);

void scrolli(long cycle, double crack, double stress, double kval)

{

int i,j;
static double dd[5],cc[5],bb[5];
static long aa[5];

for(i=1;i<5;i++)

{



dd[i-1] = dd[i};
ccfi-1]=cc[i];
aafi-1] = aalil;
bb[i-1] = bb[i];

)

aa[4] = cycle;

bb[4] = crack;

ccf4] = stress;

dd[4] = kval;

for(j=0;j<5;j++){ locate(1,19+]); printf("Cycle = %ld" aa[j1);}
for(j=0;j<5;j++) { locate(21,19+]); printf("Crack = %2.21f",bb[j]); }
for(j=0;j<5;j++){ locate(41,19+)); printf("Stress = %4.01f",cc[j]); }
for(j=0;j<5;j++){ locate(61,19+); printf("K-value = %3.21f",dd[j]);]

void crtonload()  /* FEBRDAIAE I */

(

]

locate(2,1) ;printf(">>> SPECIMEN LD. : %s <<<",idnum),
locate(2,3) ;printf("< RECORDING CRACK >");
locate(1,4) ;printf("Next recording crack : %3.21f[mm]",rcrack);
locate(1,5) ;printf("First recording crack : %3.21f[mm]",crackstart);
locate(1,6) ;printf("Last recording crack : %3.21f[mm]",crackend);
locate(2,7) ;printf(" < CONTROL >");
locate(1,8) ;printf("Stress : ");
locate(11,8) ;if(ctr]l == 1) printf("K-control");

else if (ctrl == 2 ) printf("P-control");
locate(1,9) ;printf("AD  :™);
locate(11,9),if(FUZZY == 1) print{("Fuzzy");

else if(FUZZY == 0) printf("Normal");

locate(2,10) ;printf(" < FACTORS >");
locate(1,11) ;printf("Young's module : %35d",YOUNG),
locate(1,12) ;printf("Initial stress : %4.11f[kgf]" ,STRESS);
locate(2,13);printf(" < PGAMP >");
locate(1,14);printf("Gain : %d",gain);
locate(2,15);printf(" < MTS CONTROL >");
locate(1,16);printf("Frequency  : %1.11f[Hz]" freq);
locate(1,17);printf("Target K-value : %4.21f[kgf/mm3/2]",KVAL);

locate(42,13);printf("Cycle :%71d"cycle);

locate(42,14) ;printf("  <NEXT K-CORRECTION CYCLE>");
locate(42,15) ;printf("Ycycle :%51d Count :%51d",ycycle,ycyclecnt);
locate(42,16) ;printf("  <NEXT RECORDING CYCLE>");
locate(42,17) ;printf("Xcycle :%351d Count :%51d",xcycle,xcyclecnt);

locate(9,24);printf("[cycle]");
locate(29,24);printf("[mm]");
locate(49,24);printf("[kgf]");
locate(69,24) ;printf("[kgf/mm3/2]");

int printxycycle(long cycle, long xcyclecnt, long ycyclecnt)

locate(51,13); printf("%71d" cycle);
locate(64,15); printf("%51d",ycyclecnt);
locate(64,17); printf("%51d" xcyclecnt);
return(0);



int printpdini()
{

FILE *fp;
char time[10],date[10];

int ika;

_strtime(time);
_strdate(date);

/* disket

*/

fp=fopen(fname2,'r");
if( fp I=NULL)
{

)

locate(40,3); printf(" OVER WRITE '%s' OK 7 " fname2);
for(ika=0;(ika!="y")& &(ika!="Y")& &(ika!=CR);ika=getch())
{ if ((ika=="n")ii(ika=="N")) exit(999); )
locate(40,3); printf(" WAIT I! ")

if( fclose(fp)==EOF ) printf("¥n Can not close file¥n");

fp=fopen(fname2,"w+");
if( fp==NULL)

else {

}

printf("¥n Can not open file¥n");
exit(999);

fprintf(fp, ¥n¥n");

fpﬁntf(fp,"/'****************************** ek i *¥n¥n");
fprintf(fp,” 7 7 V4 Hlf ALK —FE & BEHEAR "),
fprintf(fp,” MUEEIM K TEH SETER HEHEEwWm")
fprintf(fp,” DATE %s TIME %s ¥n¥n",date,time);

fprintf(fp,” HRERFEFT : %s¥n",idnum);

FpHIntf(fp,” s stdsd iokidobdofoddo ok btk doddod ok kR ok Rk Y )

printf(""¥007"),

if( fclose(fp)== EOF ) printf("¥n Can not close file¥n"),

[¥ ~==---—- printer ~-----—- */

=fopen("PRN","a+");

if( fp == NULL)

{
printf("¥n Can not open printer¥n");
exit(999);

}

else {

fprintf(fp, ¥n¥n¥n¥n"),
fprintf(fp,"******** s sk sie sk sk e ok sk % ok ****¥n¥n");

fprintf(fp,” 7 7 V1§l AK—EEY & EUEHERERYnYN"),

fprintf(fp,
" BEEVRE IHEH AETER KEHIRE¥n¥a);

fprintf(fp," DATE %s TIME %s ¥n¥n¥n",datetime);

fprinif(fp,” HBHEHFH : %s¥n¥n" idnum);

fprintf(fp,”  BREREEIREIEL : %2.11f¥n" freq);

fprintf(fp,” YV : %5d¥n", YOUNG);

fprintf(fp,” 4K 1 %3.118n" KVAL),

fprintf(fp, ¥n™),

fprintf(fp," Ak * Rk sk kAR R ),



]

fprintf(fp,"¥n¥n¥n"),

printf("¥007");
)
if( fclose(fp)== EOF ) printf("¥n Can not close printer¥n"),
return(0);

int readdat()

{

}

FILE *fp;
char ika[30};

locate(0,0); printf("INPUT SPECIMEN ID");
locate(0,3); printf("ID number =");
strepy(fnamel keyinstr(13,3));
strcat(fnamel,".cnd");
if (NULL==(fp=fopen(fname1,"1")))
{
printf("¥nCannot Open Condition File %s¥n¥7¥7¥7¥7",fnamel);
exit(999);
)
fscanf(fp,"%29c %s",ika,idnum);
fscanf(fp,"%29¢ %s",ika,fnamel);
fscanf(fp,"%29¢ %s" ika,fname2);
fscanf(fp,"%29c" ika);
fscanf(fp," %29 %If" ika,&width);
fscanf(fp,"%29¢ %If" ika,&thick);
fscanf(fp,"%29¢ %If"ika,&icrack);
fscanf(fp,"%29¢" ika);
fscanf(fp,"%29c %If" ika,&crackstart);
fscanf(fp,"%29c %If"ika,&crackend);
fscanf(fp,"%29¢ %d" ika &iftest);
fscanf(fp,"%29¢ %d",ika,&ctrl);
fscanf(fp,"%29¢c %lf" ika,&freq);
fscanf(fp,"%29¢ %d" ika,& YOUNG);
fscanf(fp,"%29¢ %If" ika,&stress);
fscanf(fp," %29¢ %If" ika,&KVALY);
fscanf(fp,"%29c %lf" ika,&loadfact),
fscanf(fp,”%29¢ %If" ika,&codfact);
fclose(fp);
return(0);

int writedat()

{

locate(0,0);

printf("¥n¥n");

printf("Specimen ID Number : %s¥n",idnum);
printf("Condition File Name : %s¥n",fnamel);
printf("Test Data File Name : %s¥n",fname2);
printf("------ Specimen Size ------¥n");
printf("Width : %l f¥n" width);
printf("Thickness : %I1f¥n" thick);
printf("Initial Crack : %If¥n" icrack);
printf(’------ Test Condition ——---¥n");
printf("First Recording Crack :%I1f¥n" crackstart);
printf("Last Recording Crack :%If¥n" crackend);
printf("1)Test 2)Simulation : %d¥n",iftest);
printf("1)K-Contirol 2)P-Control : %d¥n",ctrl);
printf("Load Frequency : %If¥n" freq);



printf("YOUNG :i%d¥n",YOUNG);
printf("Delta P : %I1f¥n" stress);
printf("Delta K : %1f¥n",KVAL);
printf("Load Factor : %1f¥n" loadfact);
printf("COD Factor : %1f¥n",codfact);
return(0);

int menu(void)
int ¢,i;

locatespace(40,1,41,9);

locate(40,1); printf("'------------ Change Menu -——-—---"7;
locate(40,2); printf(" 1: Correction Crack Length "%
locate(40,3); printf(" 2: Abandon Test ")
locate(40,4); printf(" 3: Change Xcycle ")
locate(40,5); printf(" 4: YOUNG'S MODULE ")
locate(40,6); printf(" 5: AD-conversion ")
locate(40,7); printf(" %

locate(40,8); printf(" Sellect (1-5)");
for(c="0"; ((c<'1M)i(c>'5D);)
{
while ( Ikbhit() ) printxycycle(cycle, xcyclecnt, ycyclecnt),
c=geich();
if(c==ESC) break;
)
for(i=1; 1<9; i++) {
locate(40,1); space(40);
)

return(c);

)

int lookkey()
{
FILE *fp;
int keybuf;
char end[10],dumy1[10],dumy2[10];

if (kbhit()==0 ) return(0);
keybuf = getch();
if (keybuf 1= ESC) return(0);
switch(menu())
{
case '1":
if( 1 == changec(crack,&crackfact,cycle, xcyclecnt,ycyclecnt))
{
fp=fopen("PRN","a+");
if( fp = NULL)
{
vstr_set(40,0,"PRINTER ERROR !11" REDINORMAL);
printfCYTYTYTYTET™,

else {
fprintf(fp," >>>>>>> Change correction factor 11! <<<<<<<<¥n");

fprintf(fp,"measured crack length = %2.21f¥n", crack*crackfact);

}
if(fclose(fp)==EOF) vstr_set(40,0,"PRINTER ERROR !!1" REDINORMAL);
return(1);



}
break;

case 2':

locate(40,1); printf("ABANDON TEST ? "),

locate(40,3); printf("Type 'END' and press 'CR". ");

locate(40,4); printf("-->");

while ( Ikbhit() ) printxycycle(cycle, xcyclecnt, ycyclecnt);
strepy(end keyinstr(44,4));

strepy(dumy1,”end"); strepy(dumy2,”"END");

if ((stremp(dumyl,end)==0 )i(stremp(dumy2,end)==0)) tstop(fact);
else locatespace(40,1,30,4);

break;

case ‘3"

if( 1 == changexcycle( &xcycle, cycle, xcyclecnt, yeycleent))

{

}
break;

case '4";

locate(51,17) ;printf("%51d",xcycle);

fp=fopen("PRN","a+");

if( fp = NULL)

{
vstr_set(40,0,"PRINTER ERROR !!!", REDINORMAL);
printf(¥T¥TYTYTET,

)

else {
fprintf(fp," >>>>>>> Change XCYCLE 1! <<<<<<<<¥n");

)
if(fclose(fp)==EOF) vstr_set(40,0,"PRINTER ERROR !!!" . REDINORMAL);
return(0);

if( 1 == changeyoung( &YOUNG, cycle, xcyclecnt, ycyclecnt))

{m

}
break;

case 'S
adflag=1;
ad();
break;

default : break;

J
return{Q),

locate(1,11) ;printf("Young's module : %5d", YOUNG);
fp=fopen("PRN","a+");
if(fp == NULL){
vstr_set(40,0,"PRINTER ERROR !!1" REDINORMAL),
printf("YT¥T¥TYTET");
)
else
fprintf(fp," >>>>>>> Change Young's Module !!! <<<<<<<<¥n");
fprintf(fp,"New Young's Module = %5d¥n", YOUNG),

)
if(fclose(fp)==EOF) vstr_set(40,0,"PRINTER ERROR !!!" REDINORMAL);
return(1);



static void interrupt far dac98( void )

{

int al, ah, data;
static int ndata;
_disable(); /F ETOE YRR EEILET S */
if( ndata >= 100) P TF= Ny 7 T DRFEICR D/
{
ndata = 0;
cycle++;
xcyclecnt++4;
yeyclecnt++;
}
count-++;
data = sd[ndata++]; /A VEDT— 5%/
al = ( data & 0x00ff ); P F—=FDTFREE Y b¥
ah = ( (unsigned)data >> 8 ); T DL Yy ¥

outp( CHSEL, CHANNELO );  /* F % X 0 % &R/
/* DELAY(1);*/

outp( LBYTE, al ); /% TRE8 ¥y bx Y
/* DELAY(1);*/
outp( HBYTE, ah ); F B8 ¥y bEREH
_enable(); [FETOE AR LHTT D ¥
outp( IC, EOI ); FEDARET AV ST ravyia—F KHLE 5%

int starttimer2(int frequency)

{

int factor,i,ctrl;

vectbuff2 = _dos_getvect(INT_NO); /&l Y A& X2 & DARFE*/
_disable();
_dos_setvect( INT_NO, dac98); A& DiAHN—F DLy L¥/
_enable();
ctrl = 0x07;
outp( CONTROL, ctrl );
/* DELAY(1);*/
outp( FREQSEL, frequency );
factor=fact;
locate(0,24);.
for(i=0; i<500; i++) /¥ increase load */
{
factor = (int)((float)factor*0.99);
factin(fact-factor);
printf("wait 1¥r");
)
printf("  ¥");
return(0);

int stoptimer2(int fact)
int i;
locate(0,24);
for(i=0; i<500; i++) /* decrease load */

{



fact = (int)((float)fact*0.99);
factin(fact);
printf("wait [¥1"),
)
factin(0);
outp( CONTROL, 0x00 );
_disable();
_dos_setvect( INT_NO, vectbuff2 ); /*Z| h AL X2 & #TLICET*/
_enable();
return(0);

static void interrupt far inttimer() I* interl;upt handler (PD8253C) */
{
if (imerflagl=1) timerflag=1;

timer++;

outp(mpd8253,intvcount & 0XFF); /* load to intarval timer */

DELAY(1);

outp(mpd8253,intvcount >> 8);

DELAY(1);

outp(mpd8259,EOI); /* end of interrupt */
)

int starttimer1(int *timer) /* for PD8253C (AD-conversion) */
{
*timer=0;
vectbuffl = _dos_getvect(0x08);
intvcount = 24576,
_disable();
-_dos_setvect(0x08,inttimer);
outp(mpd8253+6,0x36);
DELAY(1);
outp(mpd8253,intvcount & 0xff);
DELAY(1);
outp(mpd8253,intvcount >> 8);
DELAY(1);
outp(mpd8259+2,inp(mpd8259+2) & "0x01);
_enable();
return(0);
)

int stoptimer1 (void) /¥ for PD8253C (AD-conversion) */
{

_disable();

outp(mpd8259+2,inp(mpd8259+2) i 1);

_dos_setvect(0x08,vectbuffl);

_enable();

return(0);

ad(void)

{
inti;
static double stangent[20];
static double sdeltap[20];

tangent=0.0;



deltap=0;

for(i=0; i<=19; i++)
{ .
printxycycle(cycle, xcyclecnt, ycyclecnt);

if ( cnt==0 il cnt>12) lookkey();

getpv(;
lsgm(samplep,samplev,point,&tangent,loadfact,codfact,adfact);
stangent[i]=tangent;

sdeltap[i]=(double)deltap;

}

sortl(stangent,20);

sortl (sdeltap,20);

tangent = (stangent[3]+stangent{4}+stangent[5]+stangent[6]+stangent[ 7]+stangent[8]+stangent[ 9] +stangent[10]
+stangent[11]+stangent[12]+stangent[13]+stangent|14]+stangent[15]+stangent[16])/14.0;

deltap = (int)((sdeltap[3]+sdeltap[4]+sdeltap[5]+sdeltap[6]+sdeltap[ 7] +sdeltap[8]+sdeltap[9]+sdeltap[10]
+sdeltap[11]+sdeltap[12]+sdeltap{13}+sdeltap[14]+sdeltap[1 5]+sdeltap[16])/14.0 + 0.5);

locate(60,11); printf("tangent=%]1.3¢" tangent);

stress = (double)deltap*(double)loadfact/(double)adfact;
avalue(tangent,&crack,width,thick, YOUNG);

ccrack = crack*crackfact;

kvalue(stress,cerack,&kval ,width,thick);

printpd(cycle,ccrack kval,stress,tangent,crackfact cnt,fname2,preycycle, yeycle);
scroll(cycle,cerack,stress, kval);

return(0);

int getpv(void)
{

int p,v,pmax,pmin,vmax;

pmax=0;
vmax=0;
pmin=4095;
point=0;

vstr_set(40,9,"AD CONVERSION ", REDINORMAL);
starttimer1(&timer);
dof

while (timerflag 1= 1) ; /* wait for timerflag changed */

adc(&p,&v); /* p,v:integer (0-4095) */

if (pmax <p) pmax =p;

if (pmin >p) pmin = p;

if(vmax<v) vmax=v;

if ((p<imth) && (p>Imtl)) /* Imth: upper limit of p */

{

samplep[point] = p;
samplev[point] = (int)((float)v / (float)gain + 0.5);

point++;

}

timerflag=0;
} while {timer < 50); /* timer=50 for 1 cycle when f=2[Hz] */
stoptimer1();
vstr_set(40,9," " BLACKINORMAL),
codmax = (double)vmax/adfact; /* vmax: max cod value (0-4093) */
prog_gamp(codmax,&gain); /* codmax: max voltage of cod adfact=409.5 */
locate(1,14);printf("Gain  : %d" gain);



deltap = pmax - pmin;

Imth = (int){(float)pmax * 0.8);
1mtl = (int)((float)pmax * 0.1);
return(0);

int fuzzy(void)

{
adflag=1;
ad();
mcrack = crack; /* mcrack: measured crack */
meycle = cycle; /* meycle: measured cycle */
changek(&fact KVAL kval);
factin(fact);
fuzmain(mcrack,mcycle,&xcycle,&ycycle,cnt,&preycycle);
cnt++;
locate(51,15); printf("%51d", ycycle);
locate(51,17); printf("%51d", xcycle);
return(0);

int adloop(void)

vstr_set(40,10,"AD LOOP",REDINORMAL);
if ( ccrack > crackend ) tstop(fact);
printxycycle(cycle, xcyclecnt, yeyclecnt);
locate(60,12); printf("cnt=%1d" cnt);
if ( ccrack >=rcrack )
{
ad(;
xcyclecnt = 0;
rcrack+=0.4;
locate(1,4) ;printf("Next recording crack : %3.21flmm]",rcrack);
vstr_set(40,10," ",REDINORMAL);
return(0);
}
if (1==lookkey())
{
ad();
changek(&fact, KVAL kval);
factin(fact);
)

ad(); /**** AD conversion *¥¥¥*/

if (kval >= (KVAL*1.004))

{
yeyclecnt = 0;
changek(&fact, KVAL kval);
factin(fact);
if (FUZZY ){printf("¥7");fuzzy();)

return(1);

int first13(void)

{
vstr_set(40,11," FIRST13 ",REDINORMAL);



if ( ccrack > crackend ) tstop(fact);
printxycycle(cycle, xcyclecnt, ycyclecnt),
locate(60,12); printf("cnt=%]1d" cnt);
ad();
if ( ccrack >= rerack )
{
rerack+=0.4;
locate(1,4) ;printf("Next recording crack : %3.2l{[mm]" rcrack);
)
if (kval >= (KVAL¥*1.004))
{
vstr_set(59,12,"FUZZY " ,REDINORMAL);
printf("¥7");
fuzzy();
xcyclecnt =0,
yeyclecnt = 0;
vstr_set(59,12," " REDINORMAL);
)

return(0);

int onload(void)

(

if ( ccrack > crackend ) tstop(fact);
if (1==lookkeyQ) { while( 1==adloop( ); )
printxycycle(cycle, xcyclecnt, ycyclecnt);
locate(60,12); printf("cnt=%Id",cnt);
if (ycyclecnt >= ycycle)
{
vstr_set(59,12,"FUZZY ",REDINORMAL),
printf("¥7");
yeyclecnt = 0;
fuzzy(;
vstr_set(59,12," ", REDINORMAL);
return(0);
}
if (xcyclecnt < xcycle) return(0);
else while( 1==adloop(}) ); /* caution! adloop has return()’ */
return(0);

/***Stan'h********

start header file

****************/

extern
extern
extern
extern
extern
extern
extern
extern
extern

int ad(void );

int getpv(void );
int onload(void );
int menu(void );

int fuzzy(void );

int lookkey(void );
int adloop(void );
int first13(void );
int printpdini(void );

extern int readdat(void );

extern

int writedat(void );

static void far _interrupt dac98(void );



extern int starttimer2(int frequency);
extern int stoptimer2(int fact);

static void far _interrupt inttimer(void );
extern int starttimerl (int *timer);
extern int stoptimerl(void );

extern int readdat(void ),

extern int writedat(void );

extern void scroll(long cycle,double crack,double stress,double kval);
extern void crtonload(void );

extern int printxycycle(long cycle,long xcyclecnt,long ycyclecnt);
extern int ad(void );

extern int menu(void );

extern int printpdini(void );

extern int getpv(void );

extern int fuzzy(void ),

extern int lookkey(void );

extern int adloop(void );

extern int firstl13(void );

extern int onload(void );

extern void main(void );

void (interrupt far *vectbuff1)();

void (interrupt far *vectbuff2)();

/***ful.h**********

fuzmain header file

*****************/

extern int sortl(double *a,int n);

extern void calgrade(double np2,double zop2,double pp2,double decp2,double incp2,double precpr,

double preccpr,double *nx,double *zox,double *px,double *decm,double

*nocm,double *incm,double *jjj);

extern void calxcycle(double *boxa,long *boxn,long *xcycle);

extern void center(double ans,double azo,double aps,double apb,double zop2,double jjj,long

*ycycle,double crack,long xcycle,double precpr,long *preycycle,double *cent),

extern void datain(double crack,long cycle,double *boxa,long *boxn);

extern void fuzmain(double crack,long cycle long *xcycle,long *ycycle,long cnt,long *preycycle);

extern int locate(int x,int y);

extern int locatespace(int a,int b,int c,int d);

extern void mkfs(double *boxa,long *boxn,double *np2,double *zop2,double *pp2,double

*decp2,double *incp2,double *precpr,double *preccpr);

extern void fuzzyrule(double nx,double zox,double px,double decm,double nocm,double incm,
double *ans,double *azo,double *aps,double *apb);

extern int sortl(double *a,int n);

extern void printfuz(double np2,double zop2,double pp2,double decp2, double incp2,double jjj,

double precpr,double cent,double preccpr,long preycycle);

[¥**value.h ok

HBRAH S0y s h B8

Heskokok S E3 3 /

#define ESC Ox1b

#define BS 0x08

#define CR 0x0d

#define CHSEL 0xd8 /% F ¥ R WBIRE— b %/

#define CHANNELO 0x00 /FF ¥ FI0 */

#define CONTROL Oxda /*DACIYPu—bH—} %



#define
#define
#define
#define
#define
#define
#define
#define
#define
#define

25 —-a—F
#define
#define
#define
#define
#define
#define
#define
#define
[FFRE—F
#define
#define
#define
#define

FREQSEL
LBYTE
HBYTE

IcC

EOI
INT_NO
INPORT
OUTPORT
mpd8253
mpd8259

*/
BLACK
BLUE
RED
PURPLE
GREEN
SKYBLUE
YELLOW
WHITE
— }? * /
NORMAL
BLINK
REVERSE
UNDERLINE

/% specimen spec  (SRERF ROHE)

static double
static double
static double
static double
static double
static double
static double

/¥ MTS controle
static double
static double
static double
static double
static double
static double
static double
static int

width=100.0;
thick=18.0;
icrack=20.0;
rcrack=25.0;
cerack;

Oxde

0x0e

0x00

0x80

Oxel

0x03

#/

Oxdb  /* JABBERIRA — b */
frF-gBAR— b (FRZ8E Y +) #
fEF=g R — (ER8EY ) ¥
0x00 fFAVEIFTravba—35 %
0x26  /* B DALIET */
FEIYRARES WIRATY FH2) ¥
0x02da /* input port of MPDAC *#/
0X02d8 /* output port of MPDAC */

0X71 /* timer controler */

0X00 /* inter rupt controler */

0x20
0x40
0x60

Oxal
Oxc0

0x01

0x05
0x09

[+ width: BAERFBEIE *+/

/¥ thickness: RERHTE & */

/* initial crack: FIABREE &/

/¥ recording crack */

/* corrected crack: crack*crackfact */

crackstart=25.0; /* first recording crack: SLERBIABAE & */
/¥ last recording crack: JARBAEE S */

(R I )
f* frequency: M T SHREIEL *+/

crackend=60.0;

freq=2.0;
KVAL=50.0;
kval;

crack;

stress;,
STRESS;
tangeni;

frequency;

/¢ factors (HEHK. BRE)

static double
static double
static double
static double

loadfact=1000.;
codfact=0.125;
adfact=409.5;
crackfact=1.0;

*/

[* target K-value: fill#l 4 KfE */

/¥ feed back K-value: ADZHIZ L 5 AKH */
/% crack length: BHE X */

/% stress: AP [kgf] #/

/% STRESS: initial 4P [kgf] */

/* tangent (P by V): [kg/mm] */
f* frequency: M T S REJFCONSTANT */

/¥ 1[v]=1000[kg], 0.125[mm] */
/& 1[v]1=0.125[mm] */
/% 4095 =10 [v] *#/

/* crack correction factor */

static int YOUNG=18000; /* young's module: ¥ ¥ /5 */

/ofiles (Z7ANMEF—4)

*/

static char fnamel[20]="ika.cnd"; /* cnd file: #IHALHE 7 7 1 IV */
static char fname2[20]="ika.dat"; /* data file: ¥~ Z1RE T 7 4 IV #/

static char idnum[20];

* flags (£757) */

static intadflag;

static inttimerflag=0;

/¥ spacimen ID: REEFHEF */

/* ADC flag: ADZE#R 7 5 7 #/
/*PD8253C flag: ADEMS A IV 7B 7955 %/



static intcirl=1; /* ctrl : 1)K-controle 2)P-control */

static intiftest=1; /% iftest : Dloding test 2)simulation */

static int- FUZZY=1;

/* DAC (DAZ®R, ADERH) ¥

static int ndata; [FHA VBRI BRSO F—5 7N ¥
static int sd[100]; EHA VLB F— 8Ny 77 #

static long count; /* interrupt number: DAY A==y &— #/

static long cycle; /¥ cycle number: ¥ A 2 VL */

static int fact; /* multiplyer of MPDAC */

static int intvcount; /* PD8253C timer: AD % 4 < —[ljfg */

static int timer; /¥ timer counter: ADE#R I A ~—HA 75— */
static int point; /* number of AD point: EF 4 v b L7z RA > b #/
static int samplep[128]; /* stress value sampled on AD: FrEME (0-4095) %/
static int samplev[128]; /* COD value sampled on AD: COD1{E (0-4095) */
static int deltap; ¥ deltaP: AP (0-4095) #/

static int Imth=4095; /¥ higher limit value of AD: LSQM 7 — % LB =
static int Imtl=0; /% lower limit value of AD: LSQM¥F— & TR #/

/* PGAMP */

static int gain=4; /* PGAMP gain: 1,2,4,8,16 */

static double codmax; /* COD max [volt] */

¥ FUZZY */

static long xcycle=1; /% adloop & A% F TDcyclek */

static long yeycle=1; /% KA KISIE S Theycle$ */

static long xcyclecnt=0; /* xcycle counter */

static long ycyclecnt=0; /* ycycle counter */

static long preycycle; /* WA ORBEDOEHE LD yeycle ¥/

static long mcycle; /* measured cycle */

static double mcrack; /* measured crack */

static long cnt; /* fuzmain counter */

/***a-dc.b* sk 2k o e o s e K i e ok o s ok sk e el ok s kol sk sk e sl e sl sk sl sk dleskok ok

ade()

BELSRIENRS EADF— FIRADLATFasE (p, v) 2FnFh
(0-4095) DIEICERT B

ek stk ok sk okl sk ok ok ok ek ok ek /
#define DOH 0xDO  /* 1/O port dOh MSB ON ADC*/
#define DIH 0xD1  /*IJO port dOh LSB ON ADC*/
#define MSTARTI1 0x10  /* manual start command of channel 1 */
#define MSTART2 0x11  /* manual start command of channel 2 */

#include <dos.h>
#include <conio.h>
#include "p9128.h"

int adc(int *p, int #v)

{
int al,a2,b1,b2;

outp( DOH, MSTART!1 ); /* PORT 0xd0: start AD-conversion of load */
while( (inp({ D1H )&0x80) 1=0); /* bit 7 : conversion end signal */

al =inp (D1H); /* the most significant 4 bits */

a2=1inp (DOH); /*1sb*/



outp( DOH, MSTART2); /* AD-conversion of COD */
while( (inp( D1H )&0x80) =0 );

bl =inp (DIH )

b2 =inp (DOH ),

#p =( ((al<<8 ) & 0x0f00) ! (a2 & 0x00ff) );
*v =( ((bl << 8) & 0x0f00) ! (b2 & 0x00ff) );
return(0);

JEiayalue.c* Kk

avalue()

tangent, width, thick, YOUNG & Y X2 E X (crack) #3HET 3
£ & *

ek sk sk *

#define CO 1.00104 /* constants of equation (1)  */
#define C1 -4.72 /* which determines crack length */
#define C2 19.4

#define C3 -249.

#define C4 1320.

#define C5 -2400.

#include <stdio.h>
#include <math.h>
#include "p9128.h"

avalue(tangent,crack, width,thick, YOUNG)
double tangent,*crack; /* tangent: [mm/kg] */
double width,thick;
int  YOUNG;
double u, abyw;

[* computation of crack length, equation (1) */

u=1. / ( sqrt(thick*(double) YOUNG*tangent)+1. ); /* tangent: [mm/kg] */

abyw=C0+C1*u+C2*pow(u,2.)+C3*pow(u,3.)+C4*pow(u,4.)+C5*pow(u,5.);

*crack=abyw*width;
*crack = *crack * 100. +0.5;
*crack = floor(*crack) / 100.;

return(0);
}
f¥*changec.c¥k* e okoRok
changec()
FoF—-FLDEEEIOBELITLIANLAEE L. LevwEE0%ET
crackfactor? & B3
Sesfeskok ok sedesie s e sl sk e ke sk s slesk sk ¥ skikdek **/
#define ESC Ox1b
#define CR 0x0d
#define RED 0x40
#define NORMAL 0x01

#include <stdio.h>
#include <conio.h>



#include "p9128.n"

int changec(crack, crackfact, cycle, xcyclecnt, ycyclecnt)
double crack,*crackfact;
long cycle, xcyclecnt, ycyclecnt;

double ncrack;
int ika;

locate(40,1); printf("Input New Crack Length Measured ~ ¥n"),
locate(40,2); printf("Crack Length =",

while ( !kbhit() ) prinixycycle(cycle, xcyclecnt, yeyclecnt);
ncrack = keyin(55,2);

locate(40,1); printf("Measured Crack Length = %5.21f  ",ncrack);
locatespace(40,2,38,2);

printf("OK ?");

while ( !kbhit() ) printxycycle(cycle, xcyclecnt, yeyclecnt);
locatespace(40,1,38,3);

ika=getch();

if((ikal="y") & &(ika!="Y")& &(ika!=CR)) return(0);

(*crackfact) = ncrack / crack;

return(1);

/***Changekﬁ**********
changek(

correction K-value

e i /
#include <math.h>
#include "p9128.h"

changek(int *fact, double KVAL, double kval)
*fact = (int)( (double)(*fact) * KVAL*0.997 / kval +0.5);

if(*fact>4095) *fact=4095;
return(0);

Heoleok e e e e ek sk sk sl ko ook ok
changex.c

changex(

sk ok ****/
#define ESC 0x1b
#define CR 0x0d

#include <stdio.h>
#include <conio.h>
#include "p9128.h"

int changexcycle(long *xcycle, long cycle, long xcyclecnt, long ycyclecnt)

{
int ika;
long nami;

locate(40,1); printf("Input Xcycle¥n");

_M_Sg.w_



locate(40,2); printf("Xcycle = "),

while ( !kbhit() ) printxycycle(cycle, xcyclecnt, yeyclecnt),
nami = keyinlong(48,2);

locate(40,1); printf("New Xcycle = %6ld ",nami);
locatespace(40,2,38,2);

printf("OK 7 );

while ( Ikbhit() ) printxycycle(cycle, xcyclecnt, ycyclecnt);
locatespace(40,1,38,3);

ika=getch();

if((ikal="y) & &(ika!="Y")& &(ika!=CR)) return(0);

*xcycle = nami;

return(1);
)
fr¥%changey.c e sk ok seokeokok
changeyoung()
FoF— FINY VY IROBELTRIADLEHEL. LEeviEE0%ET

e s ofe e e ok ek ook ool ofe sk kel ke sk * ok % /

#define ESC 0x1b
#define CR 0x0d

#include <stdio.h>
#include <conio.h>
#include "p9128.h"

int changeyoung(int *YOUNG, long cycle, long xcyclecnt, long ycyclecnt) -
{

int ika,young;

locate(40,1); printf("Input Young's Module¥n");
locate(40,2); printf("YOUNG =");

while ( !kbhit() ) printxycycle(cycle, xcyclecnt, ycyclecnt);
young = keyinint(48,2);

locate(40,1); printf("New Young's Module = %4d  ",young);
locatespace(40,2,38,2);

printf("OK 7", :

while ( Ikbhit() ) printxycycle(cycle, xcyclecnt, yeyclecnt);
locatespace(40,1,38,3);

ika=getch();

if((kal="y") & &(ikal="Y")&&(ika!=CR)) return(Q);
*YOUNG = young;

return(1);

/***CIHSOY.C***********

cursorsw{)

*********************/

#include <stdio.h>
#include "p9128.h"

void cursorsw( int x )
if(x==0)



printf("¥x1b[>5h"); /* CURSOR OFF */
else
printf("¥x1b[>51"); /* CURSOR ON */

Jikfactin, Rk iRk Rk
factin()

input factor to MPDAC

steshe sk sfe sl sl e e sl e e sk e skl kol R Rk ****/
#include <conio.h>

#include "p9128.h"

#define OUTPORT 0X02d8 /* output port of MPDAC */

int factin(int fact) /* input MP factor */

{
int factl,facth;

if (fact>4095) fact=4095;

factl = ( fact& 0x00ff ), FF—F DTG EY b/
facth = ( (unsigned)fact>> 8 ); FEF—=9DEMEEY b¥/
outp(OUTPORT factl);

while(1) break;

outp(OUTPORT+1,facth);

return(0);

/*** gain.c*********************************************

gain_ini() : initialization of programable gain amp. (gain=1)
prog_gamp(): the voltage of COD gage, xvolt

(1) if 4<=xvolt<=8, then no change.

(2) if O<=xvolt<4, then increase gain.

(3) if 8<xvoli<=10, then decrease gain.

(4) if xvoli<0 or 10<xvolt,

then out of range

gain_out() : send changed gain signal to programable gain amp.

. << initial gain 2 >>
*****************************************************/
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
#include "p9128.h"

#define STAT 0x03da /* PGAMP start port */

#define LSB 0x03d8 /* PGAMP gain data output port */
#define MSB 0x03d9 /* PGAMP gain data output port */
#define SS1 0x01 7* PGAMP zero bit on */

#define 554 0x04  /* PGAMP 2 bit on */

#define BLACK 0x00

#define RED 0x40

#define NORMAL 0x01

int gain_ini()



int status,rdata;

rdata=inp(LSB );
rdata=inp( MSB );
while(1) {
status=inp( STAT );
if( (status & SS1) == 0 ) break;

}
outp( LSB,128 );
rdata=inp(LSB );
while(1) {
status=inp( STAT );
if( (status & SS1) == 0) break;

}
outp( LSB,0 );
rdata=inp(LSB );

if( rdata1=0) {
printf("error gain amp¥n”); /* GAIN-AMP ERROR, quit the test */
exit(0);
)

return(1);

void gain_out( int gdata )

{

int status,rdata;

while(1) {
status=inp( STAT );
if( (status & SS1) == 0) break;

)
outp( LSB, gdata );
rdata=inp(LSB );

while(1) {

status=inp( STAT );

if( (status & SS1) == 0 ) break;
)
outp( LSB, gdata-128 );

while(1) {
status=inp( STAT );
if( ( status & SS4) 1= 0) break;
}
rdata=inp(LSB );
if( rdata != gdata-128 ) {
printf("error gain amp¥n"); /* GAIN-AMP ERROR, quit the test */
exit(0);
)

return;

void prog_gamp(double codmax, int * gaih) /* vmax: max voltage of cod */



staticint g[]={ 1, 2,4, 8,16 }; /* gain */
static int d[]= { 128,129,130,133,134 };  /* gain-data */
static int gn=1; /* gain=2 */ /* gain number 0,1,2,3,4 */
double vv;
int flag=0;

while(1) {
vv = codmax;
codmax =0.;
if(vv >=4, && vv<=8.) { /* no change */
flag=0;
break;

else if( vv >=0. && vv < 4. ) [ /* increase gain */
if{gn==4){
*gain=16; flag=1;
break;
}
else {
gn++; flag=0;
break;
)
}
else if(vv > 8. && vv <=10.) { /* decrease gain */
if(gn==0)
*gain=1; flag=2;
break;
}
else {
gn--; flag=0;
break;
)
}

else if(vv < 0. Hlvv > 10.) {

flag=3;
break;
)
}
switch( flag )
{
case 1 :vstr_set(40,0,"CANNOT INCREACE GAIN",REDINOCRMAL),
break;
case 2 :vstr_set(40,0,"CANNOT DECREACE GAIN" REDINORMAL);
break;
case 3 :vstr_set(40,0,"OUT OF RANGE OF COD",REDINORMALY;
break;
default : gain_out(d[gn]); /* output changed gain */
*gain=g[gn];
break;

return;

—_.63___



/***keyin.u e e s ok s e sk ok sfe ok e sk s s ok o e o sk sk sk e sk sl e ok sk e o skl ek sk sleokosk ok

double keyin(int x.,int y)

CRTOXFIYATHS SHiOBE UPEAES 1#iLT3) #ANL, BELLT,
(double) DEE R T 7272 L, ADUBELRXFIHO-9BLY * |7 ThHb

shleskak sesfesksk desfe sk e 5 /

#include <stdio.h>
#include <conio.h>
#include <math.h>
#include "p9128.h"

#define ESC Ox1b
#define BS 0x08
#define CR 0x0d

double keyin(int x,int y)
{

int i;

char cbuf[20],¢c;

locate(x,y);
i=0;
for(i=0;(c=(char)getch(Q)!=CR ;)

if((c=B8)&&(i>0))
{

i

cbufli]=Y¥0"

locate(x-+,y);

printf(" "),

locate(x+i,y);
)
else if((c>="")& & (c<="9")&&(1<8))
{

locate(x+i,y);

chuffi}=c;
printf("%c" cbufli]);
it++;
)
)
cbuffi] = ¥0%
return( atof(cbuf) );

JEERKeyining. gl sk ko ok ok ook sk ok R R o ok s kB S R AR

int keyinint(int x,int y)

CRTOXFIY4 TS 32767 COEDERHE® AL, EEL LT,
(int) DEBELET, 32768 LoHEIE (1) %EBT,

FetEl. ANTEERIFH0—9THb, (FFfEr i)

*******************************************************************/

#include <stdio.h>

#include <stdlib.h>

#include <conio.h>

#include "p9128.n"



#define ESC 0x1b
#define BS 0x08
#define CR 0x0d

int keyinint(int X,int y)

{

int i;

char cbuf[20],c;

locate(x,y);

i=0;

for(i=0;(c=(char)getch()!=CR ; )
{

if((c==BS)&&(i>0))

{

i
cbuffi]=¥0";
locate(x-+,y);
printf("");
locate(x-+i,y);

)
else if((c>="00&&(c<="9")& & (1<5))

{

)

}
cbuffi] = %0,

locate(x-+,y);
cbuflil=c;
printf("%c" cbuflil);
i++;

if(atoi(cbuf)<Oiiatoi(cbuf)>32767)
return{-1);

else

return( atoi(cbuf) );

/***keyhﬂomc*********************************ﬁ*******************************

int keyinlong(int x,int y)

CRTOXFIV4T7»52147483647FTOENERE*AIL, EEELT,
(long int) OEEETET, 214748364 8lLDHEAIE (—1)

BRI ANTEREEXFIEO-9TH b,

(BERErzv)

*****************************************************************************/

#include <stdio.h>

#include <stdlib.h>
#include <conio.h>
#include "p9128.h"

#define ESC 0x1b
#idefine BS 0x08
#define CR 0x0d

long keyinlong(int x,int y)

int i;
char cbuf[20],c;
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locate(x,y);

i=0,
for(i=0;(c=(char)getch(Q)!=CR ; )
{
if((c==BS)&&(>0))
{
i
cbuf[i]=Y0";
locate(x+,y);
printf(" ");
locate(x+i,y);
)
else if((c>="0")& & (c<="9")& &(i<10))
{
locate(x+,y);
cbuffi}=c;
printf("%c" ,cbufli]);
i++;
}
)
cbuf[i] = %0
if(atol(cbuf)<Ohatol(cbuf)>2147483647)
return(-1);
else
return( atol(cbuf) );

/"‘**keyinstr.c****************************************************************

char *keyinstr(int x,int y)

A=V NVECRTOXFYTEBELTL 2XFUAD (EVF Fb 1IXFLET )
XFEFEBYAH, BEL LT, (cha)DEEET
ek ok ik ok o

sk st skesie ok ok sk sk skoksk sk ***/

#include <stdio.h>
#include <conio.h>
#include "p9128.h"

#define ESC Ox1b
#define BS 0x08
#define CR 0x0d

char *keyinstr(int x,int y)
{
int i;
static char cbuf[20],c;

locate(x,y);
for(i=0;(c=(char)getch(Q)!=CR ;)
{

if((c==BS)&&(i>0))

[ .
i
cbufli]=¥0"
locate(x-+,y);
printf(" "),
locate(x-+,y);
}



else if (i<12)
{

locate(x+i,y);

cbuffi}=c;
printf("%c" ,cbufli]);
i++;
)
}
cbufli] = ¥0%
return( cbuf );

/***kvalue.c************************

kvalue()

test program of calculation of K-value
ek ‘-—r***/

#include <stdio.h>
#include <math.h>
#include "p9128.h"

#define BO 0.886 /* constants of equation (2) */
#define B1 4.64 /* which determines stress intensity */
#define B2 -13.32

#define B3 14.72

#define B4 -5.6

kvalue(stress,crack,kval,width,thick)
double stress,crack,*kval;  /* tangent: [mm/kg] */
double width,thick;

double abyw, xx;

/* computation of stress intensity, equation (2) */

abyw = crack/width;

xx = stress*(2.+abyw)/thick/sqrt(width)/pow((1.-abyw),1.5);

*kval = xx*(B0+B1*abyw+B2*pow(abyw,2.)+B3*pow(abyw,3.)+B4*pow(abyw,4.));
return(0);

/***10031.0**********

locate()
text_clrQ

sk Akl kR R ok R Ak |

#define ESC 0x1b
#define BS 0x08
#define CR 0x0d
#include <stdio.h>
#include "p9128.h"

int locate(int x,int y)

(
if ( x<0 1 x>80 i y<0 1l y>25 ) return(0);
putchar(ESC);



putchar([);
putchar(y/10+'0%;
putchar(y%10+0";
putchar(;);
putchar(x/10+0";
putchar(x%10+07);
putchar(HY);
return(0);

)

int text_clr(void)

{
putchar(ESC);
printf("[2J");
return(0);

JEEklocatesp, cr iRk iRk ok ook

locatespace( x, y, space, line )

#* ’r**/

. #include <stdio.h>

#include <conio.h>
#include "p9128.h"

int locatespace(int a, int b, int ¢, int d)
int i,j;

if ((a+¢)>80 ) c=81-a;
if ( (b+d)>25) d=26-b;

for(i=0; i<d; i++)
{
locate(a,b+1);
for( j=0; j<c; j++) printf(" ");
}
locate(a,b);
return(0);
}
/***]Sqm.c*** e 3 sl e o ke oo sk o e sl ke o sfeofe e e sk skl ook
1sgm(Q)

B/NEFEEIC L D Poad), V(COD)?D (tangent) #K¥ 3%
seskesk * s ok sk sk ok skeok sesk ook /
#include <math.h>

#include "p9128.h"

Isqm(samplep,samplev,point,tangent,loadfact,codfact,adfact)
int samplep(],samplev{],point;
double *tangent loadfact,codfact; /* loadfact=1000. codfact=0.125 */
double adfact; /%4095 =10 [v] */

int i;
double sump,sumv,sumpv,sump2,p,v;



sump = 0.3
sumv = 0.;
sumpv = 0.;
sump2 = 0.;

for (i=0; i<point; i++)

p = (double)samplep[i]*loadfact/adfact; /* p [kg] */

v = (double)samplev{i}*codfact/adfact; /* v [mm] */

sump += p;

sumv +=v;

sumpv += (p*v) ;

sump2 += (p*p) ;
)
*tangent = ((double)point*sumpv-sump*sumv)/

((double)point*sump2-sump*sump); /* tangent : [kg/mm] */

return(Q);

/***prhnpd£*******************************

printpd()

TV Y—, FAAI~NOHEN TR T A
write to printer & disk "specimen ID.dat"

ke ***‘*********************/
#include <time.h>

#include <stdio.h>

#include "p9128.h"

#define RED 0x40
#define NORMAL 0x01

int printpd(cycle,crack kval stress,tangent,crackfact,cnt,fname2,preycycle,ycycle)
long cycle,cnt,preycycle,ycycle; '
double crack kval stress,tangent,crackfact;
char fname2[];
{

FILE *fp;

char time[10];

_stitime(time);

f* disket 4

fp=fopen(fname2,"a+");

if( fp == NULL)

it
vstr_set(40,0,"CANNOT OPEN FILE !!!" REDINORMAL);
tstop(500);

}

else {
fprintf(fp,"%7ld %5.21f %6.21f %6.11f %31d %12.5¢ %7.51f %s¥n",

cycle, crack, kval, stress, cnt, tangent, crackfact, time);

}

if( fclose(fp)==EOF )

{
vstr_set(40,0,"CANNOT CLOSE FILE 11" REDINORMAL);
tstop(500);

_Msg._



I printer */
fp=fopen("PRN","a+");

if(fp == NULL)

{
vstr_set(40,0,"CANNOT OPEN PRINTER !!!" REDINORMALY);
tstop(500);

)

else {
fprintf(fp,

"CYCLES=%7ld A=%35.21f dK=%6.21f dP=%5.0lf V/P=%10.3e %s %31d %41d %4ld¥n",
cycle, crack, kval, stress, tangent, time, cnt, preycycle, ycycle);

]

if( fclose(fp)==EOF )

{
vstr_set(40,0,"CANNOT CLOSE PRINTER !!I", REDINORMAL);
tstop(500);

return(0);

/***Pva]ue‘c***************

pvalue()

test program of kval & crack
******/

#include <stdio.h>
#include <math.h>
#include "p9128.h"

#define CO 1.00104 /* constants of equation (1)  */
#define C1 -4.72 /* which determines crack length */
#define C2 19.4

#define C3 -249.

#define C4 1320.

#define C5 -2400.

#define BO 0.886 /* constants of equation (2) */
#define B1 4.64 /* which determines stress intensity */
#define B2 -13.32

#define B3 14.72

#define B4 -5.6

pvalue(stress,crack kval,width,thick)
double *stress,crack,kval;
double width,thick;

double abyw, xx;

abyw = crack/width;

xx = kval*thick*sqrt(width)*pow((1.-abyw),1.5)/(2.+abyw);

*stress = xx/(B0+B1*abyw-+B2*pow(abyw,2.)+B3*pow(abyw,3.)+B4*pow(abyw,4.));
return(0);



/***Sasin Rk o3 sk s e e sk sk ok desfe ook e sk sl ke ok ok Skl sk ook ok

setsin()

make sin curve data used by MPDAC

output : HAVER SINE data (100 point) lower0 upper 32767 mean 16383
DAC setting CMP BIP -10[v] to +10[v}]
***************************#**********************************/
#include <stdio.h>

#include <math.h>

#include "p9128.h"

#define PAI 3.141592653

#define NMAX 100 /* number of sine data */

#define mean 0.0 :
#define factor 16383.5 /* 32767: 10v 0O<s<2 then Okg-10000kg */

int setsine(sd)

int sd[l;

{
double s;
int i;

for( i=0; i<NMAX; i++) {
s = -cos( 2. * PAI * (double)i / (double)NMAX ) + 1. ;
sd[i] = (int)( s * factor + mean + 0.5 );

return(0);
)
/***spacc.t, 3k sk st e s sk o e 2k o sk 3¢ 34 o e el ok ¢ e ke ok gk o ek ke e sk kg sk ke
space(n)
A=V NIEIPS nLFFDAR—AEHITL DA -V VEEBILES)
¥ sk ************’k**********************/
#include <stdio.h>

#include "p9128.h"

int space(int n)

{
int i;
for( i=0; i<n; i++) printf(" "),
for(i=0; i<n; i++) printf("'¥b");
return(0);

/***tstop_c****************
tstopQ)

Aok ***/

#include <stdio.h>
#include "p9128.h"
extern int stoptimer2(int fact);

int tstop(int fact)

{



stoptimer2(fact);

text_clr();

locate(25,12);

printf("PROGRAM TERMINATED");
locate(25,14);

printf(" TURN DOWN 'SPANY¥n¥n¥n");
cursorsw(1);

exit(0);

/***vﬂncéév S sk sienke Sfe st e sfe s sfe e sk sk ok sk ok
vstrQ)

7F¥AXAFPVRAMEEHN (CFEd)
X,y B

addres  XFFIOFEET FL 2

atir XET7P)Ea—pba—F

e ke oo ok ok ok ek deokok ok ***t********/

#include <math.h>
#include <stdio.h>
#include <conio.h>
#include <string.h>
#include <dos.h>
#include "p9128.h"

PHT ==K

#define BLACK 0x00

#define BLUE 0x20

#define RED 0x40

#define PURPLE 0x60
#define GREEN 0x80

#define SKYBLUE 0xal
#define YELLOW 0xc0
#define WHITE 0xe0
[FRRE— Fa— F

#define SECRET 0x00
#define NORMAL 0x01
#define BLINK 0x03

#define REVERSE 0x05
#define UNDERLINE  0x09

#define VERTICALLINEOx11

extern char *keyinstr(int,int);

void vstr_set(int x, int y, unsigned char *addres, int attr)
{
int position=(x<<1)+160%y;
dof
*(int far *)( 0xA0000000-+position )= *addres;
*(int far *)( 0xA2000000+position )= attr;
position+=2;
Jwhile( *++addres!=%0");



/***fuznuﬁn& ke s o S 3 o sk ok okl ek & ook Rk ko ‘ FAK

<< HETOrILrnT sV H#RBE >>>

fuzmain() :cntd¥ 1 2127 o 7o & & Serackeycle & Y yeyclexeycle k5K %
datain() :i8% 1 2 @ Dcrackcycle ¥ HRFET %

calxcycle() : xcycle % 5H83 %

mkfs() AV N=y TEABEERT S

sortl) :/DEWVIEIKY—-}T S

calgrade() : BifF&80 &/ L — FEIH T2

fuzzyruleQ: 7 7 VA W= VI X D BHEOENREND a H v P LNV ERET B
center) ELEFEHEL Tycyde® KOS

printfuz() : X ¥ N—3 v PHEME L HHEICHH

ok ik shedfe sk ek ****************************************/

#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <conio.h>
#include "fuz.h"

void fuzmain (crack,cycle,xcycle,ycycle,cnt,preycycle)
double crack;
long cycle,*xcycle,*ycycle,cnt,*preycycle;

static long boxn[14];

static double boxa[14],cent;

static double np2,zop2,pp2,jjj;

static double decp2,incp2,nx,zox,px,decm,incm,nocm,precpr,preccpr;
static double ans,azo,aps,apb;

datain(crack,cycle,boxa,boxn);

if(cnt==12)
calxcycle( boxa, boxn, *(&xcycle) );

if( cnt>=12)

{

mkfs( boxa,boxn,&np2,&zop2,&pp2,&decp2,&incp2 ,&precpr,&preccpr);

calgrade (np2,zop2,pp2,decp2,incp2,precpr,preccpr,

&nx,&zox,&px,&decm,&nocm, &inem, &jjj);

fuzzyrule(nx,zox,px,decm,nocm incm,&ans,&azo,&aps,&apb);

center(ans,azo,aps,apb,zop2,jjj,*(&ycycle),crack,*xcycle,precpr,*(&preycycle),
&cent);

printfuz(np2,zop2,pp2.decp2,incp2,jjj,precpr,cent, precepr, *preycycle);

)

return;

void datain( crack,cycle,boxa,boxn )
double crack;
double boxa[]; /* 8% 1 2 Bl DerackD F— & */
long cycle;
long boxn[}; /* #F 1 2 HDeycle® 7— 5 */
{
int i;
for(i=0; i<12; i++){

_.73_w



boxalil=boxa[i+1];
boxn[i]=boxn[i+1];

)
boxa[12]=crack;
boxn[12]=cycle;
return;
)
void calxcycle( boxa,boxn,xcycle)
long boxn[],*xcycle;
double boxa[l;
(
int i;

}

long dnf13]; /* AN */
double da[13]; /* Aa */
double dnda[13]; /* da/dN */
double sumdnda;

sumdnda=0.;
dn[0]=01;
da[0]=0.;
dndaf0}=0,;

for(i=0;i<12;i++){
dn[i+1]=boxn[i+1]-boxnl[i];
da[i+1]}=boxa[i+1]-boxali];
if(dali+1]<=0.0) da[i-+1]=0.05;

}

for(i=0;i<12;i++)({
dndafi+1]=(double)dn[i+1]/da[i+1];
sumdnda=sumdnda+dndali+1];

)

7250 4mmiH U B B H DeycleBUC0.6 U B %%/
*xcycle = (long)(sumdnda/12.%0.4%0.6);

return;

void mkfs( boxa,boxn,np2,zop2,pp2,decp2,incp2,precpr,preccpr)

long boxn[];
double boxa[],*np2,*zop2,*pp2,*decp2,*incp2,*precpr,*preccpr,

static double cpr[14]; /* Crack Propagtion Rate */

static double ccpr{14]; /* Change of Crack Propagation Rate */
static double scpr[12]; /¥ V — M D7z¥ D cpr ¥/

static double sccpr[11]; /* ¥V — F D7z @ cepr ¥/

double scprl,scpr2,scpr3,sceprl,sccpr,scepr3;

inti;

scpr[0] = scepr{0] = scepr[1] = *precpr = *preccpr = 0.0;
for(i=0;i<12;i++)

if( (boxa[i+1}-boxali])>0.0)
cprfi+1]=(boxa[i+1]-boxa[i])/(double)(boxn[i+1]-boxnli]);
else cprli+11=0.05/(double)(boxn[i+1]-boxn[i]);
)
for(i=1;i<12;i++)
ceprli+1]=(cpr[i+1]-cpr{i])/(double)(boxn[i+1]-boxn[i]);



*precpr=cp1{12]; /* B B Dcpr */
*preccpr=ccpr{12]; /* & Bl Dccpr */

for(i=0;i<12;i++)
scprij=cprli+1];
for(i=0;i<11;i++)
sceprfil=coprli+2];
sort1(scpr,12);
sortl(scepr,11);

scprl=(scpr{0]+scpr[1]+scpr[2]+scpr{31)/4.;
scpr2=(scpr{4]+scpr[S]+scpr[6]+scpr[T])/4.;
scpr3=(scpr{8]+scpr[9]+scpr[10]+scpr[11])/4.;
sceprl=(sccpr{0]+scepr{1 +scepr{2]+scepr{3D/A.;
sccpr2=(sccpr[4+scepr{ Shscepr[6])/3.;
scepr3=(sccpr{ 7}+scepr{8+scepr[9)+scepr{10])/4.;

if(scprl==scpr2) scprl=scpr1*0.9;
if(scpr2==scpr3) scpr3=scpr3*1.1;
if(scepr1>=0.00) sceprl=-fabs(sccpr2)*0.1;
if(sccpr3<=0.00) sccpr3= fabs(scepr2)*0.1;

*np2=scprl; /* B Ehcpric B17 % Negative D TH A OH */
*zop2=scpr2; /* R Efcpric B4} % ZeroD THADE #/
*pp2=scpr3; /* B4 Bhcpric B3 % Positive D THA DH */
*decp2=sccprl; /* B &Recpric 3 1) % Decrease D TH s DAE */
*incp2=scepr3; /* i Ehccpric B 1 5 Increase D TE A DAE */

return;

sortl(a,n)

double af] ;
intn;

{
int i,j,k,l,m ;
double w ;

1=n/2;
for(k=1k>0;k/=2)
{
fori=k;i<n;i++)
{
j=i-k;
while(1)
{
m=j+k;
if (j <0} a[j] <= a[m]) break ;
w=alj];
afj] =a[m];
afm]=w;
ji=k;
}
}
}
return(0) ;

}



void calgrade (np2,zop2,pp2,decp2,incp2,precpr,preccpr,nx,zox.px,decm,nocm,incm,jjj)

)

double np2,z0p2,pp2,decp2,incp2,precpr,preccpr;
double *nx; /* Negative D 7" I — F */

double *zox; f* ZeroD 77 L — ¥ */

double *px; /* Positive® 7 L — F */

double *decm; /* Decrease?® " L — F */
double *nocm; /* No Cange® 7" L — F %/
double *incmy; f* Increase® &7 L — F #/
double *ijj; /* Zero & Negative & DTHANFE */

if( precpr<np?2 ) *nx=1.0;
else *nx=(precpr-zop2)/(np2-zop2);

if( precpr<zop2 ) *zox=(precpr-np2)/(zop2-np2),
else *zox=(precpr-pp2)/zop2-pp2);

if(precpr>pp2)  *px=1.0;
else *px=(precpr-zop2)/(pp2-zop2);

if( preccpr<decp? ) *decm=1.0;
else *decm=preccpr/decp2;

if( preccpr>0. ) *nocm=(-preccpr/incp2)+1.0;
else *nocm=-preccpr/decp2+1.0;

if( preccpr>inep2 ) *incm=1.0;
else *incm=preccpr/incp2 ;

*jjj=(zop2-np2);

if (*nx<0.0) *nx=0.0;

if (*20%<0.0 ) *z0x=0.0;

if ( *px<0.0 ) *px=0.0;

if (*decm<0.0 ) *decm=0.0;
if (*nocm<0.0 ) *nocm=0.0;
if (*incm<0.0 ) *incm=0.0;

return;

void fuzzyrule (nx,zox,px,decm,nocm,incm,ans,azo,aps,apb)

double *ans; /* NSD a 71 v } L=Jb *f
double *azo; X ZOD a A v F LWV #/
double *aps; ¥ PSD a 1 v F LUV #/
double *apb; A PB® a #1 v + LRV #/
double nx,zox,px,decm,nocm,incm;

double apsl,aps2,azo0,azol az02,az03,azo4,ans1,ans2;

aps1=aps2=0.0;
azo0=azol=azo2=az03=az04=0.0;
ans1=ans2=0.0;
*ans=*azo=*aps=*apb=0.0;

i nx>0.0 )
if( deecm>0.0 ){
if{ nx<decm ) *apb=nx;
else *apb=decm;
)



if( nocm>0.0 ){
if( nx<nocm ) apsl=nx;
else apsl=nocm;

}

if(inem>0.0 ){
if( nx<incm ) aps2=nx;
else aps2=incm;

)

if( zox>0.0 ){

if( decm>0.0 ) {
if( zox<decm ) azol=zox;
else azol=decm;

)

if( nocm>0.0 ){
if( zox<nocm ) azo2=zox;
else azo2=nocm;

}

if( incm>0.0 ){
if( zox<incm ) azo3=zox;
else azo3=incm;

]

if( px>0.0 ){

if(deecm>0.0 ){
if( px<decm ) azo4=px;
else azod=decm;

)

if( nocm>0.0 ){
if( px<nocm ) ansl=px;
else ansl=nocm;

}

if( inem>0.0 ){
if( px<incm ) ans2=px;
else ans2=incm;

]

if( apsl>aps2)
*aps=apsl;
else
*aps=aps2;

if( ans1>ans2)
*ans=ansl;
else
*ans=ans2;

if( azol>azo02 ){
if( azo1>az03 ) azo0=azol;
else azo0=az03;

)

else{
if( azo2>azo3 ) azo0=azo02;
else azo0O=azo3,;

}

if{ azo0>az04 ) *azo=azo0;

else *azo=azod;



return;

)

void center (ans,azo,aps,apb,zop2,jjj,ycycle,crack,xcycle,precpr,preycycle,cent)
double ans,azo,aps,apb,zop2,jjj,crack,precpr;
double *cent; /* B[ */
long *ycycle,xcycle, *preycycle;

doubledela; * AKD 0., 4% FTNEZITHELUER ¥

if((az0>0.0 && aps>0.0 && apb>0.0) ! (ans>0.0 && az0>0.0 && aps>0.0)){
if(az0>0.0 && aps>0.0 && apb>0.0)(
if(azo>=0.5)
*cent=(2.0*zop2*jjj*azo*(1.0-az0/2.0) +aps/2.0%{jj*(2.0*zop2+jjj*(3.0-aps))
+apb*jjj*(2.0%*zop2+(5.0-apb)*jjj)/2.0) (2.0%jjj*azo*(1.0-az0/2.0)+(aps+apb)*iji);
else if(aps>=0.5)
*cent=(2.0%jjj*(zop2+jj)*aps*(1.0-aps/2.0)-+azo/2.0%{jj* (2.0%20p2-+jjj* (azo-1.0))
+apb*jjj*(2.0%zop2+(5.0-apb)*ijj)/2.0) /(2.0%jjj*aps*(1.0-aps/2.0)+(azo+apb)*jjj);
else
*cent=(aps*jjj*((aps+1.0)*{jj/2.0+2z0p2)+(2.0-apb)*apb*jjj* (zop2+2.0%{jj)
+az0/2.0*{jj*(2.0*zop2+ijj*(azo-1.0))) K(2.0-apb)*apb*jjj+(azo+aps)*ijj);
)
if(ans>0.0 && az0>0.0 && aps>0.0){

if(ans>=0.5)
if(aps>=azo)
*cent=((2.0-ans)*ans*jjj*(zop2-jjj) +(2.0-aps)*aps*jjj*(zop2+jjj)
+azo*azo*jjj*zop2) /((2.0-ans)*ans*{jj+(2.0-aps)*aps*jjj +azo*azo*jjj);
else

*cent=((2.0-ans)*ans*jjj*(zop2-jjj)-+azo/2.0%{jj*(2.0*zop2+jjj*(1.0-az0))
+aps/2.0%j{j*(2.0*zop2+jjj*(3.0-aps))) /(jjj*ans*(2.0-ans)+(azo+aps)* i
else if(azo>=0.5)
*cent=(ans/2.0%j{j*(2.0*zop2-jjj*(3.0-ans))+2.0%zop2*jjj*azo*(1 .0-az0/2.0)
+aps/2.0%jjj*(2.0%zop2+jjj* (3.0-aps)))/(2.0%jjj*azo*(1 .0-azo/2.0)+(ans+aps)*jjj);
else if(aps>=0.5) i
if(ans>=azo)
*cent=((2.0-ans)*ans*[jj* (zop2-ijj)+(2.0-aps)*aps*jjj *(zop2+ijj)
+azo*azo*[jj*zop2) /((2.0-ans)*ans*}jj+(2.0-aps)*aps*jjj+azo*azo*ijj);

else
*cent=((2.0-apsy*aps*jjj*(zop2+ijj) +ans/2.0*jjj* (2.0%zop2-{ij*(3.0-ans))
+az0/2.0%jj*(2.0*zop2+ijj*(azo-1.0)))/((2.0-aps) *aps*jjj+(ans+azo)*jjj);
) !
Jelsc(
if(ans>0.0 && az0>0.0 ){
if(ans<=azo)

*cent=(ans/2.0%jjj*(2.0*zop2-jjj*(3.0-ans)) +2.0%zop2*jjj*azo*(1 .0-az0/2.0))
[ans*jjj+2.0%jjj*azo*(1.0-az0/2.0));
else
*eent=(2.0%jjj*(zop2-jjj)*ans*(1.0-ans/2.0) +azo/2.0%] 7% (2.0%zop2+jjj*(1.0-az0)))
/(2.0%jjj*ans*(1.0-ans/2.0)+azo*jjj);
Jelse if( azo>0.0 && aps>0.0 ){
if( azo<=aps )
*cent=(2.0%jjj*(zop2+jjj)*aps*(1.0-aps/2.0)+azo /2.0%jjj *(2.0*zop2+jjj*(azo-1.0)))
/(2.0%jjj*aps*(1.0-aps/2.0)-+azo*{jj);
else
*eent=(2.0%zop2*jjj*azo*(1.0-azo/2.0)+aps/2.0%jj *(2.0*zop2+jjj*( 3.0-aps)))
/(2.0*jjj*azo*(1.0-az0/2.0)+aps*jjj);
Jelse if( az0>0.0 && apb>0.0 )(
*cent=(2.0%jjj*(zop2+2.0%jjj)*apb*(1.0-apb/2.0)+2.0 *zop2*jjj*azo*(1.0-az0/2.0))
/(2.0%jjj*apb *(1.0-apb/2.0)+2.0%jjj*azo*(1.0-az0/2.0));



Jelse if( ans>0.0 && aps>0.0 )
*cent=((2.0-ans)*ans*jjj* (zop2-jjj)+(2.0-aps)*aps*jjj*(zop2+jjj)//((2.0-ans)*ans*jjj
+(2.0-aps) *aps*jjj);
Jelse if( aps>0.0 && apb>0.0 ){
if( aps<=apb )
*cent=(aps*jjj*((aps+1.0)*jjj/2.0+zop2)+(2.0-apb)*apb*ijj* (zop2+2.0%jjj))
/(aps*jjj+(2.0-apb)*apb*jjj);

else
*cent=((2.0-aps)*aps*jjj*(zop2-+jjj)+apb*jjj *(2.0*20p2+(5.0-apb)*jjj)/2.0)
/((2.0-aps)*aps*jjj+apb*ijj);
Jelse(
if(ans>0.0)
*cent=zop2-jjj;
if(az0>0.0)
*cent=zop2;
if(aps>0.0)
*cent=z0p2-+ijj;
if(apb>0.0)
*cent=zop2+2*jjj;
)

if(*cent<=0.0) *cent=zop2;

dela = 0.13075
+2.9724%pow(10.0,-4.0)*crack
+5.7223*pow(10.0,-4.0)*pow(crack,2.0)
-2.1155%pow(10.0,-5.0)*pow(crack,3.0)
+2.6348*pow(10.0,-7.0)*pow(crack,4.0)
-1.1273*pow(10.0,-9.0)*pow(crack,5.0);

*preycycle=(long)(dela/precpr);
*ycycle =(long)((double)*preycycle*(zop2 / *cent));

if (*ycycle<xcycle/4) *yeycle=(long)(xcycle/4);

return;

)

void printfuz(np2,zop2,pp2 decp2,incp2,jjj,precpr,cent precepr,preycycle)
double np2,zop2,pp2,decp2,incp2,jjj,precpr.cent,preccpr
long preycycle;

locatespace(41,1,40,9);

locate(41,1); printf(" <FUZZY REASONING > ")

locate(41,2); printf("cpr : %10.3e %10.3¢ %10.3¢",np2,z0p2,pp2);

locate(41,3); printf("ccpr:%10.3e 0.000e-000 %10.3e" decp2,incp2);

locate(41,4); printf(" NS Z0 PS PB ™

locate(41,5); printf("%9.2e %9.2e %9.2¢ %9.2¢"
,20p2-jj,20p2,20p2+ijj,z0p2+2%{jj);

locate(41,6); printf(" %S5.31f %S5.31f  %S5.31f  %5.31f "
(z0p2-jjj)/zop2,20p2/20p2 (zop2-+ijj)/zop2,(zop2+2*jij)/zop2);

locate(41,7); printf(" %5.31f  %5.31f  %S5.31f  %S5.31f "
,20p2/(20p2-jjj),20p2/20p2,20p2/(Z0p2+j}),20p2/(zOp2+2*ij));

locate(41,8); printf("precpr : %11.3e  FACTOR :%1.31f",precpr,zop2/cent);

locate(41,9); printf("precepr: %11.3¢ PreYcycle:%ld" preccpr,preycycle);

return;



